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2007-08 District Competition

Match #1


These questions are for use in the Virginia High School League’s Scholastic Bowl District competition. Shawn Pickrell, Jason Mueller, and Dan Goff are the authors of these questions; further editing was done by Adam Fine and Marian Suter.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL District champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your District’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
Eugène (uh-zhen) Vidocq (vee-dohk), a criminal turned policeman, was the inspiration for this novel’s protagonist. A picture of his adopted daughter holding a broom twice her height is its iconic image. The unabridged version includes a discussion about argot fungus and a description of the Battle of Waterloo. What novel ends with a June 1832 uprising in Paris, and author Victor Hugo killing off Jean Valjean? 

ANSWER: Les Misérables (lay mee-zay-rah-bluh)

2.
It is not radioactive, has a spin of one, and a natural abundance of one in 6500 atoms of its element.  Harold Urey won the 1934 Nobel Prize in chemistry for its 1931 discovery.  Consisting of one proton, one neutron, and one electron, what is this ingredient of heavy water, an isotope of hydrogen? 

ANSWER: deuterium
3.
Its adoption was delayed for two years since Maryland insisted that Virginia and Ohio give up their claims to land in the Ohio Valley. Its provisions included pre-approved membership for Canada, the creation of a thirteen-member Committee of the States to govern when Congress was not in session, and that amendments required approval from all states. What was this predecessor to the Constitution?

ANSWER: Articles of Confederation

4.
THIS IS A COMPUTATION QUESTION. What is the value of 7 factorial, given that it is equal to 1 times 2 times 3 times 4 times 5 times 6 times 7, and that 6 factorial is equal to 720?

ANSWER: 5040

5.
 He illustrated Erasmus’ The Praise of Folly and Martin Luther’s Bible translation. After he made the woodcut series Dance of Death, religious strife led him to go to England, where he became even more famous, and not just for The Ambassadors. Thomas More, Anne of Cleves, Catherine Howard, and Henry VIII were the subjects of what artist’s portraits?

ANSWER: Hans Holbein (hole-bine) the Younger (don’t accept ‘the Elder’)

6.
Commonly found in Virginia, this rock is actually less soluble as the temperature of water increases.  It is used as a base for neutralizing acidic soil in the form of an oxide or hydroxide with calcium, and is quarried as a primary ingredient for cement.  What is this rock, common in architecture and also the primary component of structures like stalactites and stalagmites?

ANSWER: limestone 

7.
He dated Florence Bacombe, who dumped him for Bram Stoker. He married Constance Lloyd, and had sons, Cyril and Vyvyan (vye-vee-un). However, he found that the Marquess of Queensbury did not fight fair; an affair with the Marquess’ son, Alfred Douglas, led to two years at Reading (red-ding) Gaol (jail). This was the love life of what author of Lady Windemere’s Fan and The Picture of Dorian Gray? 

ANSWER: Oscar Wilde
8.
The formal title of this political commercial was ‘Prouder, Stronger, Better.’ It proclaimed, ‘Today more men and women will go to work than ever before in our country’s history,’ and with ‘inflation at less than of half of what it was just four years ago’ and ‘interest rates at about half the record highs of 1980,’ things were bright and sunny. What 1984 Reagan re-election ad referred to this nation and a part of the day?

ANSWER: ‘It’s Morning again in America’

9.
He is honored in his native Germany for a unit of speed equal to one meter per second. His early models, the Victoria and the Velo, included his inventions, such as the carburetor, gear shift, and spark plug. They were significant improvements over his Motorwagen, which is considered the first true automobile. In 1926, what man’s company merged with Daimler Motor Group? 

ANSWER: Karl Benz
10.
In the Catholic calendar, he shares, along with Saint Paul, a feast day of June 29, although he was martyred on October 13, AD 64, via upside-down crucifixion. He affirms his love for Jesus three times in the last chapter of John, making up for an earlier episode where he had denied Jesus three times. To whom did Jesus give the keys to heaven and earth saying, ‘Upon this rock I will build my church’? 

ANSWER: Saint Peter the Apostle (also accept Simon Peter)

11.
Her oldest daughter married the German ruler, Friedrich III. She was the first known carrier of hemophilia among European royalty. The unkind called her ‘Mrs. John Brown’ after the death of her husband, Prince Albert. Who was the last ruler of the House of Hanover, the first Empress of India, and ruler of the United Kingdom between 1837 and 1901?

ANSWER: Queen Victoria
12.
Polarizing ones include Nicol, Wollaston, and Glan-Taylor; reflective ones include Porro, Dove, and Dichroic (dye-kroik); and dispersive ones include Amici (ah-mee-chee) and Triangular.  Isaac Newton used them to separate colors.  Name this transparent optical element that often refracts light that also appears on the cover of the Pink Floyd album The Dark Side of the Moon.

ANSWER: prism
13.
This poem begins, ‘Not like the brazen giant of Greek fame.’ It ends with, ‘Send these, the homeless, tempest-tost to me, / I lift my lamp beside the golden door!’ What poem by Emma Lazarus contains the lines, ‘Give me your tired, your poor, / your huddled masses yearning to breathe free,’ and is found on a plaque contained in the Statue of Liberty? 

ANSWER: ‘The New Colossus’

14.
She said as a child she attended “52 bar mitzvahs and not a single quinceañera.” (keen-see-ahn-yair-uh) She played Ana Garcia, an East L.A. high school student and sweatshop worker, in Real Women Have Curves. She played “Thunder Monkey” in Lords of Dogtown. She was also Carmen, an aspiring writer who magically fit into a pair of pants.  What actress is best known for her role on ABC as Betty Suarez (swah-rays)?

ANSWER: America Ferrera
15.
The one in Connecticut contains Stamford and Greenwich. The one in Alaska contains Juneau. The one in Texas contains Amarillo. The one in Florida contains Pensacola. The one in Oklahoma doesn’t really contain much. The Eastern one in West Virginia contains Martinsburg, and the Northern one contains Wheeling. What ‘extensions’ of a state are named for their shape resembling a cooking container?

ANSWER: panhandle(s)

Second period, 10 directed questions per team, 10 points each
Set A questions have an ‘A’ after their number; set B questions have a ‘B.’ 

1A.
What female organ is removed in a hysterectomy?

ANSWER: uterus
1B.
In 1992, a canal connected the Main (mine) River and what river that flows through Bratislava and Belgrade? 

ANSWER: Danube River

2A.
What homophone refers to the stand on which a coffin rests before burial, or to an alcoholic drink?

ANSWER: bier or beer 
2B.
In Super Bowl VII, Billy Kilmer replaced what injured quarterback, who played for the Washington Redskins between 1964 and 1974?

ANSWER: Sonny Jurgensen
3A.
What painting contains the name Charlotte Corday and is Jacques-Louis (zhock loo-ee) David’s (dah-veedz) representation of the man Corday assassinated? 

ANSWER: The Death of Marat (mah-rah)

3B.
Mrs. Manson Mingott is the grandmother of Ellen Olenska and May Welland in what novel by Edith Wharton? 

ANSWER: The Age of Innocence
4A.
Despite a VDOT study that says they increase crashes at intersections, the Virginia General Assembly reauthorized what traffic monitoring devices in 2007?

ANSWER: red light cameras (or equivalent, prompt ‘cameras’)

4B.
THIS IS A COMPUTATION QUESTION. What is the midpoint between (8, 22) and (32, 16)?

ANSWER: (20, 19)​
5A.
The last battleship built for the U.S. Navy is what ship where Japan signed the surrender articles to end World War II?

ANSWER: USS Missouri
5B.
The order Chiroptera (kye-awp-teh-ruh) contains what winged mammals?

ANSWER: bats

6A.
THIS IS A COMPUTATION QUESTION. Convert 0.375 into a fraction of lowest terms.

ANSWER: 3/8
6B.
The equation, x squared plus y squared equals 144, is what type of conic section?

ANSWER: circle
7A.
THIS IS A COMPUTATION QUESTION. What is 24 percent of 525?

ANSWER: 126
7B.
BCS theory explains what phenomenon of electric current without resistance?

ANSWER: superconductivity (accept word forms)

8A.
Give the term used in computer science to describe an item being removed from a stack. 

ANSWER: pop

8B.
What battle was decided when Darius III fled the field, allowing Alexander the Great to break the power of the Persian Empire in 331 B.C.?

ANSWER: Battle of Gaugamela or Arbela
9A.
The Templar Brian de Bois-Guilbert (bwah-gheel-bair) falls in love with what character in Ivanhoe, the daughter of Isaac of York? 

ANSWER: Rebecca of York 

9B.
According to the Book of Leviticus, during what special year, celebrated every 49 or 50 years, would all lands be returned to their original owners? 

ANSWER: Year(s) of Jubilee or Yovel (YOH-vel)

10A.
Wacht am Rhein (vakt am rine) is the German name for what battle fought in December 1944 and January 1945, a last-gasp German counteroffensive in the West?

ANSWER: Battle of the Bulge or Ardennes offensive

10B.
If a Spanish speaker were to refer to la pierna (lah pee-ayr-nah), to what part of the body is he or she referring?

ANSWER: the leg(s)

Third period, 15 toss-ups, 10 points each

1.
In 2005, this royal married the current Duchess of Cornwall, 8 years after the death of his first wife, the Princess of Wales.  Who is this man, known in the United Kingdom as the Prince of Wales, and the once-husband of Diana Spencer?

ANSWER: (Prince) Charles Windsor

2.
There are about 20,000 species of them and they make up the division Pteridophyta (tay-rih-doh-fye-tuh). They first lived in the early Carboniferous period.  They differ from other vascular plants in that their gametophytes (gah-mee-toh-fites) are free-living organisms.  Their leaves are usually called fronds.  Name this type of seedless plant that reproduces by spores.

ANSWER: fern
3.
The ‘naked’ type of this activity does not involve a ‘locate,’ which involves making sure the security can be borrowed. It also happens by buying a put option and exercising it. Risks include a ‘squeeze,’ which occurs when the price of a stock goes up sharply. What activity involves selling a stock or security you do not own, and means the investor profits when the price goes down? 

ANSWER: short selling (accept ‘sales’ and other words in place of ‘selling’)

4.
This word is a fast waltz banned in the 1930s by some French dance-halls, due to the man putting his hands on the woman’s buttocks. ‘Write Once, Run Anywhere,’ was the slogan of a computer language with this name developed by Sun Microsystems. It is also the most populous island in the world, containing Jakarta, Indonesia’s capital. What word also describes a cup of coffee? 

 
ANSWER: java
5.
 He was succeeded as king of Elis by his son Phyleus. He was killed after refusing to pay one-tenth of his wealth for a day’s work, claiming instead that the rivers Alpheus and Peneus had done the work. Who had the most cattle in Greece, and thus the most cattle waste, requiring the cleaning of his stables by Heracles? 

ANSWER: Augeas (ow-jee-us)

6.
Carroll James played this song on WWDC-FM, forcing Capitol Records to release it two weeks ahead of schedule, on the day after Christmas 1963. Its B-side was ‘I Saw Her Standing There.’ Brian Epstein had asked its performers to write a song with the American market in mind. The result was what song, the Beatles’ first #1 hit in the United States, where they want to ‘tell you something, I think you’ll understand’? 

ANSWER: ‘I Wanna Hold Your Hand’

7.
THIS IS A COMPUTATION QUESTION. Where are the major intercepts of the ellipse x squared over 36 plus y squared over 16 equals 1, given that the ellipse x squared over a squared plus y squared over b squared equals 1 has major intercepts at (a, 0) and (-a, 0)? 

ANSWER: (6, 0) and (-6, 0)
8.
She was the only Anglo-Saxon woman who did not have her lands taken away after the Norman Conquest. The legend associated with her has several flaws: the town of Coventry wasn’t founded until 1043, and the only known tax levied on its residents at the time was a small tax on horses. Peeping Tom is associated with what woman whose husband Leofric (lee-ah-frik), the Earl of Mercia, told her to ride her horse while unclothed? 

ANSWER: Lady Godiva
9.
It is sometimes also known as Mariotte’s law and is named after a seventeenth-century Irish natural philosopher.  Robert Hooke may have helped to quantify this law that works for an ideal gas at a fixed temperature.  Name this gas law that states that pressure and volume are inversely proportional.

ANSWER: Boyle’s law

10.
He wears an item that costs 10 shillings and 6 pence and testifies at the Knave of Heart’s trial after the King of Hearts threatens to execute him. He helps put the Dormouse into a teapot after using him as a cushion during his ‘unbirthday’ party, where the March Hare and Alice are the other guests. What character in Alice’s Adventures in Wonderland may have breathed too much mercury and wears distinctive headgear? 

ANSWER: Mad Hatter
11.
It hosted its first game in 1916, and is bordered by Waveland Avenue on the north and Addison Street on the south. Its fans originated the tradition of throwing back opposing team's home run balls. Its home team last played a World Series game here in 1945.  What stadium has a statue of announcer Harry Caray outside and has ivy covering its outfield wall, and is the home stadium for the Chicago Cubs?

ANSWER: Wrigley Field

12.
Late in his life he wrote shorter works, such as ‘The Beast in the Jungle’ and ‘The Jolly Corner.’ He introduced the character of Winterbourne in Daisy Miller. He had Verena Tarrant marry Basil Ransom in The Bostonians. Marie de Vionnet and Chad Newsome fall in love, and Lambert Strether is sent to break them up in his The Ambassadors. Who created the character of Isabel Archer in The Portrait of a Lady? 

ANSWER: Henry James
13.
In 1848, the Free Soil Party nominated him for President, but he won no electoral votes. His opposition to annexing Texas meant he lost the Democratic Presidential nomination in 1844. He suggested an ‘Independent Treasury’ system, but otherwise couldn’t do much about the Panic of 1837, which coincided with his taking office. What second of Jackson’s Vice-Presidents followed him as President? 

ANSWER: Martin van Buren
14.
John Glenn and Gus Grissom were two of the finalists for this mission, originally designated Mercury-Redstone 3.  Its flight lasted only 15 minutes, reaching a height of 116 miles.  Referred to as a ‘flea hop’ by Nikita Khruschev was what space mission, whose capsule is now on display at the US Naval Academy, and was piloted by Alan Shepherd?

ANSWER: Freedom 7
15.
The title character begins by escaping from his drunkard father, but misses his target of Cairo (kay-roh), Illinois, and keeps heading down the Mississippi. While heading down, he becomes part of the ‘Royal Nonesuch’ con game, meets the Grangerfords and Shepherdsons, and helps obtain the freedom of his friend, Jim. This is the plot of what novel by Mark Twain? 

ANSWER: (The) Adventures of Huckleberry Finn
Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
Stirling’s formula approximates its value for n with n to the n power times e to the minus n power times the square root of the quantity two pi n end quantity.  For zero, it is one; for three, it is six; and for nine, it is 362,880.  Name this math function that is represented by an exclamation mark and for n is equal to the product of the integers from one to n.

ANSWER: factorials

2.
This letter, in the original Latin alphabet, was located between ‘F’ and ‘H’ and was eliminated when ‘G’ was introduced in the third century BC. It was brought back after the conquest of Greece, and kept its original Greek name. Shakespeare called it ‘Thou unnecessary letter!’ in King Lear, and later artists used it as a symbol for sleeping. What letter is currently at the alphabet’s end? 

ANSWER: Z

3.
This political party is the descendant of the ‘Clear Grits’ reform movement that existed before the Confederation of 1867. Save for the current one, all of its leaders since Wilfrid Laurier have been Prime Ministers. In 1984, there was fear the New Democrats would force them into third-party status. After the 1990 collapse of the Progressive Conservatives, what political party returned to power for 16 years in Canada? 

ANSWER: Liberal Party of Canada

4.
This term comes from the Greek for first most and was coined by Ernst Haeckel in 1866.  It is a paraphyletic grade and is composed of unicellular organisms or simple multicellular organisms.  Name this eukaryote kingdom that contains animal-like protozoa, plant-like algae, and fungus-like slime molds.

ANSWER: protist(s)

5.
Its composer complained that it would be ‘showy and noisy, but without artistic merit,’ and it never was performed as planned at the largest Orthodox church ever built. In fact, it wasn’t until 1990 that the Leningrad Philharmonic recorded it with the sixteen cannon shots placed exactly where Peter Tchaikovsky wanted. What piece, often played on July 4th, celebrates the Battle of Borodino and the failed French invasion of Russia?

ANSWER: ‘1812 Overture’

All questions ©2007 Scholastic Bowl Company of Virginia, Inc. Unauthorized use, as described on the first page of this document, is prohibited.

